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RS L 2V 1 1,929,410 |SH-2-1 45 m
IR =] 0.6 m
15 =7 ) — b 9.3 m
13/hA 1k 7.1 m
ZERERL 2V 1 1,160,381 |/xZwyb (an=7" 7l) 65 m2
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KR L = 1 3,924,000 | 2>y (An-7" Hl) 360 m2
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LPTFT HERE T (HE1E W L) = 1 1,469, 140 | & 5 = HiekE 34 m3
(15 /) X pehsE)
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N =M 1 4,279 | FH15~20cm ;
EilEEe) 11 m3
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E% T X 1 19, 242, 086
87 - R B T X 1 4,701, 116
87 - R B T X 1 5,201, 612
87 - R B T X 1 2, 366, 618
KRBT = 1 5,000,000 |& 7 HEK 1 =
45024 1300 (m3/h) A & HEHEK ;
AREEET =M 1 1,972, 740
EEE TR = 1 41, 253, 675
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HGRESER (G5 L) v 459, 000
el (FE L) v 3, 629, 000
Wi = 45, 380, 475
B E R v 13, 641, 000
TRl = 59, 021, 475
—fRE % v 10, 548, 525
T fifik& = 69, 570, 000
-3- EtAms  TE R




